Air Pollution in the Pacific Northwest Worksheet Name

List a few general facts about Nitrogen Dioxide air pollution below:

Emissions Inventory for nitrogen oxides in the lower atmosphere:

Provided by the Environmental Protection Agency

Natiornal Nitrogen Oxides Emissions by Source Sector

in 2002

. Tetd Emissions
On Read Vehicles : 8,133,567
Electricity Generaticn 4,663,962
Neon Road Equipment 4,577,275
Feoesil Fuel Combustion 2,413,027
Industrial Frecesses 116,549
Fires £1022
Waste Disposal 0,552
Residentidl Wood Combustion 3676
Sotvent Use 90m
Miscellanecus 2,327
Fertlizer & Livestock 2,09
Roed Dust : : 0
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Nitrogen Oxides Emissions by Source Sector
in Franklin County, Washingtcn in 2002

. Tetd Emissions
On Road Vehicles : 244
Nen Road Equipment 2,12
Residentid Wood Combustion 30
Fossil Fuel Combustion 9
‘Weste Digposal 3
Miscellanecus : : : 0
r T T T
0 1000 2,000 3,000

Tens

In the box below, answer the two questions:
What are the top two sources of nitrogen oxides in
the USA? How much is emitted per year?
(Include Units)

In the box below, answer the two questions:
What are the top two sources of nitrogen oxides
in Franklin County (Pasco)? How much is emitted
per year? (Include Units)




Label the Cities, Axes, and Title in the plot below:

Q%

-126.000 -124.000 -122.000 -120.000

-118.000

-116.000

Is it from the model or the satellite?

November 2007 —nitrogen dioxide

AIR QUALITY MODEL:

What are the coordinates of each

city?

CITY

Latitude

Longitude

What is the largest value

shown on the maps of
nitrogen dioxide?

Which city is it in?

SATELLITE MEASUREMENT:




AIRPACT NO, Tropospheric Column - Monthly Average
‘s

89 2 3 4 5 67889 2
10 102 15
Vertical Column Density (molec/cm 10 7)

OMI NO, Tropospheric Column - Monthly Average

89 2 4 5 67889 2

10 10
Vertical Column Density (molecicm’ x 10'°)

Complete the table below:

AIRPACT/OMI AIRPACT -
AIRPACT NO- OMINO- Ratio OMI Difference
Seattle
Portland
Vancouver
Pasco

Spokane




Which cities show the best agreement between the modeled (AIRPACT)
and satellite (OMI) concentrations of nitrogen dioxide? (Be specific —
use your calculation and graph results from Excel to explain why).

Which cities show the worst agreement between the modeled
(AIRPACT) and satellite (OMI) concentrations of nitrogen dioxide? (Be

specific — use your calculations and graph results from Excel to explain
why).




